Prof. N. Haidar FACULTY OF ARTS & SCIENCES , A. U. B.

See. 1 &2 Math 202 19 Jan., 1998
(1-st Semester, 1997-1998)
Tune : | hour QUIZ 11 (closed book)

® 1. Solvethe IVP
y" 1y ey ey =0 o oy =0,y =2, ¥y @) =02,

® H. Find the general solution of the DE
y' 4y = csecx +x°

@ LI Apply the method of Frobenius to find the general solution of the DE
x(l-x)y” -3y o+ 2y = 0,
in the neighborhood of its x = 1 singularity .

® 1V. Usc the substitution y = ~x u(x) to reduce the DE
v+ - k(k-1)/x)y=0;: ke N,c>0, .
to an cquivalent Bessel’s DE, then express its solution in terms of Bessel
[unctions .
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